
Ljetni rok državne mature 2018.  

INFORMATIKA - KLJUČ ZA ODGOVORE 

Zadatak Odgovor 

1.  d 

2.  c 

3.  d 

4.  b 

5.  d 

6.  a 

7.  b 

8.  a 

9.  b 

10.  d 

11.  b 

12.  c 

13.  d 

14.  c 

15.  b 

16.  d 

17.  a 

18.  a 

19.  Rijeka 

20.  102,4 

21.  9 

22.  306 

23.  512 

24.  izlaz(c) 

25.  5 

26.  
A.  7 
B . 2 

27.  
A.  0 
B.  150 

28.  
A.  7 
B . 28 

29.  
A.  4 
B.  -2 

30.  
A.  11111010 
B.  -6 

31.  
najmanji = 64 KiB 
najveći = 0,01 GiB 

32.  
A . 110110,111 
B .  36,E 

33.  

 

A.  𝐴 ∙ 𝐵̅̅ ̅̅ ̅̅ ∙ 𝐵 + 𝐶̅̅̅ ̅̅ ̅̅ ̅̅ + 𝐶
̅̅ ̅̅ ̅̅ ̅̅ ̅̅ ̅̅ ̅

 
 

B .  𝐴 ∙ 𝐵̅̅ ̅̅ ̅̅ ∙ 𝐶̅ 



34.  

A . 

 
 
B.  =AVERAGE(B2:E2) 
C.   =COUNTIF(E2:E4;">4,5") 
 

35.  

 

ulaz(n); 

ulaz(op); 

min := op; 

za i:= 2 do n činiti 

{ 

   ulaz(op); 

   ako je op < min onda 

   min := op; 

} 

izlaz(min); 

 

 

36.  

 

ulaz(A); 

ulaz(B); 

ulaz(C); 

N := A div C; 

ako je A mod C > 0 onda 

 N := N + 1; 

M := B div C; 

ako je B mod C > 0 onda 

 M := M + 1; 

 

izlaz(M * N); 

 

ili 

 

ulaz(A); 

ulaz(B); 

ulaz(C); 

izlaz(((A+C-1) div C) * ((B+C-1) div C)); 

 

 

 


